Date: 8/4/2020 Time: 8:42:04 PM Page 1/5

Registered Voters 8,770 - Total Ballots 3,261 : 37.18%

Party Distribution		· ·
Number of Precincts Precincts Reporting	10. 10 <sup>.</sup>	100:00%
Total Ballots	3,261	100.0076
Non-Partisan REPUBLICAN PARTY DEMOCRATIC PARTY LIBERTARIAN PARTY GREEN PARTY CONSTITUTION PARTY	4. 2,992 264 1 0 0	0.12% 91.75% 8.10% 0.03% 0% 0%

GOVERNOR (REPUBLICAN PARTY)	·	
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,817	
RALEIGH RITTER	172	6.11%
MIKE PARSON	1,806	64.11%
JAMES W. (JIM) NEELY	422	14.98%
SAUNDRA McDOWELL	417	14.80%

LIEUTENANT GOVERNOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		100.9970
Total Votes	2,383	
ARNIE C. AC DIENOFF	192	8.06%
MIKE KEHOE	998	41.88%
AARON T WISDOM	288	12.09%
MIKE CARTER	905	37.98%

SECRETARY OF STATE (REPUBLICAN PARTY)		<u> </u>
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,430	
JOHN R. (JAY) ASHCROFT	2,430	100.00%

STATE TREASURER (REPUBLICAN PARTY)	, <u>.</u>	<del></del>
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,306	
SCOTT FITZPATRICK	2,306	100.00%

ATTORNEY GENERAL (REPUBLICAN PARTY)	· · · · · · · · · · · · · · · · · · ·	······································
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		, 00,00,0
Total Votes	2,297	
ERIC SCHMITT	2,297	100.00%

JASON SMITH	2,473	100.00%
Total Votes	2,473	
Vote For 1		
Precincts Reporting	10	100.00%
Number of Precincts	10	
(REPUBLICAN PARTY)		
US REP. DIST. 8		

Date: 8/4/2020 Time: 8:42:04 PM Page 2/5

Registered Voters 8,770 - Total Ballots 3,261: 37.18%

STATE SENATOR DIST. 27 (REPUBLICAN PARTY)	· · · · · ·	· · · · · · · · · · · · · · · · · · ·
Number of Precincts Precincts Reporting Vote For 1	10. 10	100.00%
Total Votes	2,742	ı
HOLLY REHDER KATHY SWAN	1,390 1,352	50.69% 49.31%

<del></del>	•	
STATE REP. DIST. 144 (REPUBLICAN PARTY)		·
Number of Precincts	9.	
Precincts Reporting	9	100.00%
Vote For 1	•	14,000,70
Total Votes	1,949	
CHRIS DINKINS	1,949	100.00%

STATE REP. DIST. 153 (REPUBLICAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1	4	100.00%
Total Votes	652	
LARRY KIMBROW JACK (SKIP) JOHNSON DARRELL ATCHISON	173 67 412	26.53% 10.28% 63.19%

CIRCUIT JUDGE, CIRCUIT 42 (REPUBLICAN PARTY)	DIVISION 2	<del></del>
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	2,665	
MIKE RANDAZZO	1,401	52.57%
KRISTOPHER D. CREWS	271	10.17%
BRANDI L. BAIRD	557	20.90%
STEPHEN K. PAULUS	159	5.97%
CHRISTOPHER PIATT	277	10.39%

EASTERN DIST. COMMISSIO (REPUBLICAN PARTY)	DNER	
Number of Precincts	<b>7</b> :	
Precincts Reporting Vote For 1	7	100.00%
Total Votes	1,570	
DOUG WOOD	863	54.97%
EDDIE THOMPSON	79.	5.03%
DAVID RICHMAN	273	17.39%
BRIAN TOWE	355	22.61%

WESTERN DIST, COMMISS (REPUBLICAN PARTY)	IONER	
Number of Precincts	5	
Precincts Reporting Vote For 1	5	100.00%
Total Votes	1,359	
W. LEE ROACH	440	32.38%
STEVE FOSTER	461	33.92%
WES OWENS	458	33.70%

	···	
SHERIFF		<del></del>
(REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		100.0076
Total Votes	1,783	
WOODY MASSA	1,783	100.00%
<u> </u>		

ASSESSOR (REPUBLICAN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	2,816	
TARA SMITH	1,466	52.06%
AMANDA M. GOOCH	1,350	47.94%

Date: 8/4/2020 Time: 8:42:04 PM Page 3/5

Registered Voters 8,770 - Total Ballots 3,261: 37.18%

CORONER (REPUBLICAN PARTY)		
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 2,667	100,00%
MARK E. SMITH MICHAEL L. ALLEN	1,229 1,438	46.08% 53.92%

LIEUTENANT GOVERNOR (DEMOCRATIC PARTY)		· .
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Total Votes	235	
GREGORY A UPCHURCH	99	42.13%
ALISSIA CANADY	136	57.87%

PUBLIC ADMINISTRATOR (REPUBLICAN PARTY)	`	· · · · · · · · · · · · · · · · · · ·
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	2,898	100.0076
SANDRA (SAM) WILLS	747	25.78%
PENNY SCHULZ	871	30.06%
PATRICIA (PAT) CAMPBELL	101	3.49%
JANET LOUCKS	187	6.45%
BRADLEY L. MILLER	992	34,23%

YINKA FALETI	204	100.00%
Total Votes	204	
Vote For 1		
Precincts Reporting	10	100.00%
Number of Precincts	1.0	
SECRETARY OF STATE (DEMOCRATIC PARTY)	-	,——

GOVERNOR (DEMOCRATIC PARTY)		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	246	
NICOLE GALLOWAY	173	70.33%
JIMMIE MATTHEWS	29	11.79%
NOSMHOL MIOTAN	7	2.85%
ERIC MORRISON	30	12.20%
ROBIN JOHN DANIEL VAN QUAETHEM	7	2.85%

	<del>-</del>
10	
10	100.00%
	100.0078
222	
222	100.00%
	10 222

ATTORNEY GENERAL (DEMOCRATIC PARTY)	· · · · · · · · · · · · · · · · · · ·	···
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	240	
RICH FINNERAN ELAD GROSS	157 83	65.42% 34.58%

Date: 8/4/2020 Time: 8:42:04 PM

Page 4/5

Registered Voters 8,770 - Total Ballots 3,261 : 37.18%

· · · · · · · · · · · · · · · · · · ·	
10 10	100.00%
<b>235</b>	
235	100.00%
	10 235

SECRETARY OF STATE (LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting Vote For 1	10	100.00%
Total Votes	1	
CARL HERMAN FREESE	1	100.00%

DONNIE OWENS	229	100.00%
Total Votes	229	
Vote For 1		150 %
Precincts Reporting	10	100,00%
Number of Precincts	10	
STATE SENATOR DIST. 27 (DEMOCRATIC PARTY)		

		· · · · · · · · · · · · · · · · · · ·
STATE TREASURER (LIBERTARIAN PARTY)		<u> </u>
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1	•	1
Total Votes	1	
NICHOLAS (NICK) KASOFF	1	100.00%

	<del></del>	<del></del>
DEAN FINCH	224	100.00%
Total Votes	224	
Vote For 1		100.00
Precincts Reporting	10	100.00%
Number of Precincts	10	•
SHERIFF (DEMOCRATIC PARTY)		

ATTORNEY GENERAL (LIBERTARIAN PARTY)	<u> </u>	
Number of Precincts	10	
Precincts Reporting Vote For 1	10	100.00%
Total Votes	1	
KEVIN C BABCOCK	1	100.00%

RIK COMBS	1	100,00%
Total Votes	1	
Vote For 1		
Precincts Reporting	10	100.00%
Number of Precincts	10	
• •		
(LIBERTARIAN PARTY)		
GOVERNOR		

US REP. DIST. 8 (LIBERTARIAN PARTY)		
Number of Precincts	10	
Precincts Reporting Vote For 1	10	100.00%
Total Votes	1	
TOM SCHMITZ	1	100.00%

BILL SLANTZ	1	100.00%
Vote For 1 Total Votes	1	100.00%
Number of Precincts Precincts Reporting	10 10	100.00%
LIEUTENANT GOVERNOR (LIBERTARIAN PARTY)		

GOVERNOR (GREEN PARTY)		
Number of Precincts Precincts Reporting	10 10	idoni dodu
Vote For 1 Total Votes	0	100.00%
JEROME HOWARD BAUER	0	0%

Date: 8/4/2020 Time: 8:42:04 PM Page 5/5

Registered Voters 8,770 - Total Ballots 3,261: 37.18%

LIEUTENANT GOVERNOR (GREEN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	0	
KELLEY DRAGOO	0	0%

CONST. AMEND, 2		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	3,069	
YES	801	26.10%
NO	<b>2,268</b> <sub>1</sub>	73.90%

SECRETARY OF STATE (GREEN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	0	
PAUL LEHMANN	0	0%

STATE TREASURER (GREEN PARTY)		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	O	
JOSEPH CIVETTINI	0	0%

Vote For 1 Total Votes PAUL VENABLE	.0.	0%
Number of Precincts Precincts Reporting	10 10	100.00%
SECRETARY OF STATE (CONSTITUTION PARTY)		